Automotive Technology 6th Edition
Chapter 84

Name

MATCHING. Choose the item in column 2 that best matches each item in column 1.

1) Product of normal combustion
2) Product of abnormal combustion
3) Cause of CO emissions

4) Cause of HC emissions

5) Cause of NOx emissions

6) Least stringent CAAA standard
7) Exhaust CO too high

8) ZEV rated

9) Changes NOx to Np

10) Exhaust Oy too high

A) Hybrid vehicle
B) Catalytic converter
C)CO
D) Electric vehicle
E) Lean indicator
F) Rich indicator
G) Faulty spark plug
H) Tier 1
I) High temperature in combustion chamber
J) Rich mixture
K) Tier 2

L) H,O

4)

5)

6)



Answer Key
Testname: MATCH 84

1)L
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